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Date - 1st May 2023 e The EAC will evaluate and select

incubators for allotment of Seed Funds,
1. With reference to the Start-up India Seed fneubators for aliotment of seed FUds
Fund Scheme, consider the following
statements:

monitor progress, and take all
necessary measures for efficient

utilization of funds towards fulfilment

1. Startup should not have received more of objectives of Startup India Seed

than Rs 10 lakh of monetary support Fund Scheme.

under any other Central or State

Government scheme e Features: Grants of up to Rs. 5 crores to

eligible incubators, they in turn will

2. A startup, recognized by DPIIT, provide up to Rs. 20 lakh (for proof of

incorporated not more than 2 years ago concept, prototype development, or

at the time of application. product trials to startups) and up to Rs.

Which of the statements given above is/are 50 lakh  (for = market entry,
eligibility conditions for Startups under the commercialization, or scaling up) to
scheme? eligible startups.
A1l Only How Startup India Seed Fund Will Operate
The Seed Fund will be disbursed to eligible startups
B. 2 Ol’lly through eligible incubators across India
C' BOth 1 and 2 DPIIT EAC Incubators Startups
D. None of the above '
Department for Experts Advisory Govt assisted/Not- DPIIT-recognised
il commitee jeseoig el
Answer: C ki Dok S PR o

Industry Experts 2-3years

e Funding from angel investors and

venture capital firms becomes
2. In the context of RBI Integrated Ombudsman

Scheme, consider the following:

available to startups only after the

proof of concept has been provided.

e Similarly, banks provide loans only to 1. Housing Finance Companies

asset-backed applicants. Credit Information Companies

2
e [t is essential to provide seed funding 3. Core Investment Companies
4

to startups with an innovative idea to Non-scheduled Primary (Urban) Co-

conduct proof of concept trials. operative Banks with deposit size of 350
e An Experts Advisory Committee Crore and above
(EAC) has been constituted by
Department for Promotion of Industry
and Internal Trade (DPIIT) , which will

be responsible for the overall execution

Which of the entities given above are covered
under the scheme?

A. 1,2 and 3 only

and monitoring of the Startup India B. 2and 3 only
Seed Fund Scheme. C. 2and 4 only
D. 1,3 and 4 only
- /
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Single window for resolution
of complaints against RBI regulated entities

Complaints not resolved within 30 days or not . Lodge complaints online at
resolved satisfactorily by banks/NBFCs/system !O https://cms.rbi.org.in or by post to
participants regulated by RBI, can be lodged with ° @ Centralised Receipt and Processing Centre,

the Ombudsman Reserve Bank of India, Chandigarh - 160017.

All complaints regarding deficiency in Track the status of your complaint
services covered, except those in the on Complaint Management System
exclusion list (https:/fems.rbi.org.in)

For more information call 14448
from 8 AM to 10 PM (Weekdays except National Holidays).
To lodge a complaint, visit https://ems.rbi.org.in

RBI Kehta Hai...
Jaankaar Bamye
= Salark Rahiye!

Issued in public interest by

isckced
RESERVE BANK OF INDIA

wwwrbiorgin

FEss  For more details, visit hitpsi/irbikehtahai.rbi.org.in/
{3465  For feedback, write to rbikehtahai@rbi.org.in

e The Reserve Bank - Integrated
Ombudsman Scheme, 2021 (RB-IOS,
2021/ the Scheme) was launched on
November 12, 2021.

e It integrates the erstwhile three
Ombudsman schemes of RBI namely,

o The Banking Ombudsman Scheme,
2006;

o The Ombudsman Scheme for Non-
Banking Financial Companies,
2018; and

o The Ombudsman Scheme for
Digital Transactions, 2019.

o These schemes had limited and
different grounds of complaints
and limited coverage of REs, apart
from jurisdiction related

restrictions.

e RB-IOS, 2021 provides for cost-free
redress of customer complaints
involving deficiency in services
rendered by entities regulated by RBI,
if not resolved to the satisfaction of the
customers or not replied to within a
period of 30 days by the RE.

-

-
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Answer: C Which REs are covered under the RB-1IOS,

~

2021?

e Banks: All
including Public Sector Banks, Private

commercial  banks,

Sector Banks, Foreign Banks, Local
Area Banks, Small Finance Banks,
Payment Banks, Regional Rural Banks,
Scheduled Primary (Urban) Co-
operative Banks and Non-scheduled
Primary (Urban) Co-operative Banks
with deposit size of I50 Crore and
above, as on the date of the audited
balance sheet of the previous financial
year;

e NBFCs registered with RBI: All Non-

Banking Financial Companies

(excluding Housing Finance
Companies) which (a) are authorized
to accept deposits; or (b) have
customer interface, with an assets size
of %100 crore and above as on the date
of the audited balance sheet of the

previous financial year;

e Note: Core Investment Companies,
Infrastructure = Debt  Fund-Non-
banking Financial Companies, Non-
Banking Financial Companies-

Infrastructure Finance Companies,

companies in resolution or winding up

/ liquidation, or any other NBFC

specified by RBI are excluded from the

ambit of the RB-10S, 2021.
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System Participants: All Payment
System Participants - banks as well as
non-banks regulated by RBI are
covered under the RB-1OS, 2021. These
entities issue Prepaid Payment
(PPIs) and
transactions over National Electronic
Funds Transfer (NEFT) / Real Time
Gross Settlement (RTGS) / Immediate
Payment Service (IMPS) / Unified
Payments Interface (UPI) / Bharat Bill
Payment System (BBPS) / Bharat QR

Code / *99# mobile transaction service

Instruments facilitate

using Unstructured Supplementary
Service Data (USSD) / Aadhaar
Enabled Payment System (AePS), etc.

Credit Information Companies: All
Credit Information Companies as
defined in the Companies Act, 2013 (18
of 2013) and granted a Certificate of
Registration under sub-section (2) of
section 5 of the Credit Information
Companies (Regulation) Act, 2005 (30
of 2005).

3. Which one of the following statements is

incorrect with respect to ECLGS for civil

aviation sector?

A. Airlines are eligible to borrow up to

50% of their credit outstanding up to
%400 crore.

100% guarantee is provided by the
National Credit Guarantee Trustee
Company under the scheme.

borrowers and Non-
(NPA)
cannot raise funds under the scheme.

First-time

Performing Asset accounts

D. None of the above

~N
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Answer: A
e Department of Financial Services
(DFS), Ministry of Finance, has
modified the Emergency Credit Line
Guarantee  Scheme (ECLGS) to

enhance the maximum loan amount
eligibility for airlines under ECLGS 3.0
to 100% of their fund based or non-
fund-based loan outstanding as on the
reference dates or Rs. 1,500 crore,
whichever is lower.

The modifications introduced are
aimed to give necessary collateral-free
liquidity at reasonable interest rates to
tide over their present cash flow

problems.

Earlier  Provision: the eligible

borrowers were permitted to avail up
to 50% of their highest total fund and
non-fund based credit outstanding,
subject to a maximum of Rs. 400 crore
per borrower.

ECLGS scheme is only for existing
borrowers on the books of the banks as
on 29th Feb 2020 or 31st March 2021 or
31st January 2022, depending upon the
sector to which it belongs.

Any new borrower can, however, be
covered under the ongoing CGTMSE
and NCGTC schemes.

4. With reference to Remission of Duties

and Taxes on Exported Products (RoDTEP)

Scheme, consider the following
statements:
1. RoDTEP is based on the globally

accepted principle that taxes and
duties should not be exported.

- J
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B.
C.
D.

exporters, without any threshold of
turnover.

Which of the statements given above is/are
correct?

A. 1and 3 only

2 only
2 and 3 only
1,2and 3

Answer: D

RoDTEP was initiated to replace
incentive schemes under MEIS that
was not in compliance with the WTO
norms.

This scheme aims to provide incentives
for small exporters through duty scrips
WTO-
compliant in the international market.

and make Indian exports

RoDTEP is based on the globally
accepted principle that taxes and
duties should not be exported, and
taxes and levies borne on the exported
products should be either exempted or
remitted to exporters.

The RoDTEP scheme rebates/refunds
the embedded Central, State and local
duties/taxes to the exporters that were
so far not being rebated /refunded.

The scheme is being implemented
from 1st January 2021 and the rebate is
issued as a transferable electronic scrip
by the Central Board of Indirect Taxes
& Customs (CBIC) in an end to end IT
environment.

-
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2. Chemicals and Pharmaceuticals e Taking a major step to boost exports,
sectors are covered under the scheme. Centre govt further expanded the

3. This scheme is open to both scope of RODTEP Scheme by including
manufacturers and merchant the exports made from the Chemical

~

sector, Pharmaceuticals sector and

exports of articles of iron & steel.

This was a long-standing demand of
the industry which has been accepted
and will go a long way in boosting our
exports and competitiveness in the
global markets, generate employment
and contribute to the overall economy.

In the present times, when exports are
facing headwinds on account of signs
of recession in some of the developed
markets & supply chain disruptions on
account of Russia-Ukraine conflict,
extension of RoDTEP to uncovered
sectors like Chemicals,
Pharmaceuticals & Articles of Iron &
Steel is likely to enhance the export

competitiveness of these sectors.

5. Which one of the following components is

not covered under PLI scheme?

A. Medical Devices

B. Pharmaceuticals drugs
C. Leather Goods

D. White Goods

Answer: C

In the Union Budget 2021-22, Finance
Minister announced an outlay of INR
1.97 Lakh Crores for PLI Schemes for
13 key sectors.

Later, it was extended to 14 sectors.
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e It aims to scale up domestic .
manufacturing capability,
accompanied by higher import .
substitution and employment
generation.

List of 14 PLI schemes

e PLI for Large Scale Manufacturing of
Mobile Manufacturing and Specified

Electronic Components - under
MeitY.
[ ]
e PLI for Critical Key Starting

materials/Drug Intermediaries and

Active Pharmaceutical Ingredients *
(APIs) - wunder Department of
Pharmaceuticals.

e PLI for Manufacturing of Medical

Devices - under Department of *
Pharmaceuticals.
e PLI Scheme for IT Hardware

(Electronic/Technology) Products -
under MeitY
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PLI for Pharmaceuticals drugs - under
D/ o Pharmaceuticals

PLI for Telecom & Networking
Products - under D/o
Telecommunications

PLI for Food Products - under Ministry
of Food Processing Industries

PLI for White Goods (ACs & LED) -
under DPIIT

PLI for High Efficiency Solar PV
Modules - under MNRE

PLI Scheme for National Programme
on Advanced Chemistry Cell (ACC)
Battery Storage: under Department of
Heavy Industry

PLI Scheme for ‘Textiles for man-
made fibre (MMF) Apparel, MMF
Fabrics and 10 segments/ products of
Technical Textiles”: under Ministry of
Textiles.

eepyClassesiIAS
akening Toppers

Only at Rs. 2,999/-
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e Production Linked Incentive (PLI)
Scheme for Automobile & Auto
components: under Department of
Heavy Industry.

e Production Linked Incentive (PLI)
Scheme for Speciality Steel: under
Ministry of Steel.

PLI Scheme for Drones and Drone Components:
under Ministry of Civil Aviation.

Date - 8t May 2023

1. Consider the following statements with

respect to Industrial Corridors in India:

1. The development of industrial corridor
projects in India will be implemented
through the National Industrial
Corridor Development and
Implementation Trust (NICDIT).

2. India Industrial Land Bank, and
initiative of Department of Land
Resources, is a one-stop repository of
all industrial infrastructure-related
information.

Which of the statements given above is/are
correct?

A. 1only

B. 2only

C. Both1and 2

D. None of the above
Answer: A

e An industrial corridor is a specific
geographic area that aims to develop a
cluster of manufacturing or other
industries such as IT, services etc.

-
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It is usually created in areas with pre-
existing infrastructure such as ports,
highways, railroads, logistics parks etc.

Industrial corridors offer effective
integration between industry and
infrastructure, leading to overall
economic and social development.

Industrial corridors constitute world-
class infrastructure, such as

o An industrial corridor is a specific
geographic area that aims to
develop a cluster of manufacturing
or other industries such as IT,
services etc.

o It is usually created in areas with
pre-existing infrastructure such as
ports, highways, railroads, logistics
parks etc.

o Industrial corridors offer effective
integration between industry and
infrastructure, leading to overall
economic and social development.

o Industrial corridors constitute
world-class infrastructure, such as

o High-speed transportation

network - rail and road

o Ports with state-of-the-art cargo
handling equipment

o Modern airports

o Special economic
regions/industrial areas

o Logistic parks/transhipment hubs

o Knowledge parks focused on
catering to industrial needs

o Complementary infrastructure
such as townships/real estate
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o Other urban infrastructure along
with enabling policy framework

e Government of India has accorded
approval for development of 11
Industrial corridors (32 projects) in
four Phases.

e The development of these eleven
industrial corridor projects will be
implemented through the National
Industrial Corridor Development and
Implementation Trust (NICDIT).

e South India’s 1st Industrial Corridor
Project to be implemented at
Tumakuru, Karnataka.

e Tumakuru in Karnataka is spread over
8500 Acre of land under the Chennai
Bengaluru Industrial Corridor.

e Chennai  Bengaluru  Industrial
Corridor (CBIT) project includes the
development of industrial townships
at three nodes Krishnapatnam
(Andhra Pradesh), Tumakuru
(Karnataka), and Ponneri (Tamil
Nadu).

2. Which of the following statements is/are

correct?
1. ESG Mutual Funds are under the
regulation of SEBI.

2. ASBA in secondary market trading
will lead to lower working capital
requirements for investors.

3. As per SEBI, investors get funds in
their bank accounts within 24 hours of
the sale of shares.

Select the correct code.

~
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B. Only 2 statements are correct

C. All statements are correct

D. All statements are incorrect

Answer: C

SEBI has proposed allowing mutual
funds to introduce five new
categories under ESG (environmental,
social and governance) scheme.

ESG Mutual Funds are Thematic
Mutual Funds that invest in socially
responsible companies and wherein
the investment process has included
evaluation of factors like their
environmental (E), social (S), and
governance (G) practices.

ESG Funds invest in organizations that
are ESG compliant and aim at
sustainable growth.

The five new categories should be
exclusions, integration, best-in-class
and positive screening, impact
investing and sustainable objectives.

Presently, mutual funds can launch
only one ESG scheme under the
thematic category of equity schemes.

Sebi has proposed that each asset
management company should be
permitted to launch one ESG scheme
each under the five subcategories.

SEBI also approved framework for
Application Supported by Blocked
Amount (ASBA) in secondary market.

o In ASBA, investor funds remain
blocked in their bank accounts
instead of being passed on to
broker until execution of purchase

A. Only 1 statement is correct order.
- J
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o It would help in lowering the need
of working capital for the
investors.

3. Which one of the following statements is
incorrect with respect to PM MITRA
Scheme?

A. Under the scheme, park can be
established at
brownfield site.

greenfield  and

B. For greenfield project, financial
assistance will be provided by state
and central governments on equal
sharing basis.

C. The scheme is related to textile sector.

D. Plug and Play model is introduced to
improve the ease of doing business for
private players.

Answer: B

e Parks will be setup at Greenfield /
Brownfield sites located in different
willing States.

e A park will be developed by a Special
Purpose Vehicle which will be owned
by the Central and State Government
and in a Public Private Partnership
(PPP) Mode.

e Special purpose vehicles, with a 51%
equity shareholding of the State
government and 49% of the Centre,
will be formed for each park.

e The State governments will provide
the land, be part of the SPV, and give
the required clearances.

-

N
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e Fach Park will have an incubation
centre, common processing house and
a common effluent treatment plant
and other textile related facilities such
as design centres and testing centres.

e The parks will have plug-and-play
manufacturing facilities and all the

common amenities required.

e The Master Developer will not only
develop the Industrial Park but also
maintain it during the concession
period.

e For a Greenfield PM MITRA park, the
GOI Development Capital Support
will be 30% of the Project Cost, with a
cap of 3500 Cr.

e For Brownfield sites, after assessment,
Development Capital Support @30% of
project cost of balance infrastructure
and other support facilities to be
developed and restricted to a limit of
Rs. 200 Crore.

e State Government supports will
include provision of 1,000 Acre land
for development of a world class
industrial estate.

4. With reference to Biofuels sector in India,
consider the following statements:

1. A license is required for both exports
and imports of biofuels.

2. Export of biofuels are allowed for fuel
as well as non-fuel purposes without
any restriction, if the biofuel is
produced by using imported feed
stock.

3. Government of India imposes
additional duty on unblended fuels.
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Which of the statements given above is/are
correct?

A. 1and 3 only

B. 2 only

C. 2and 3 only

D. 1,2and 3
Answer: D

e The Directorate General of Foreign
Trade (DGFT) has recently amended a
notification of 2018 "to the extent that
export of biofuel from special
economic zones/export oriented units,
are allowed for fuel as well as non-fuel
purpose without any restriction when
produced using only imported feed
stock".

e In August, 2018, government had
imposed restrictions on export of
biofuels within days of putting similar
conditions for its imports.

e A licence is required for both exports
and imports of biofuels.

e Now, the government has decided that
the export of biofuel from special
economic zones and export oriented
units are allowed for fuel as well as
non-fuel purposes without any
restriction, if the biofuel is produced
by using imported feed stock.

(As per notification of OCT 2022)

e According to the latest notification,
“petrol which is intended for retail
sale, not so blended with ethanol or
methanol” will attract Rs 3.40 per litre
basic excise duty effective November 1,
2022, instead of the current Rs 1.40.

~N
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e Asfor diesel that is “intended for retail
sale, not so blended with alkyl esters of
long chain fatty acids obtained from
vegetal oils, commonly known as bio-

diesels” will attract a basic excise duty
of Rs 3.80 per litre.

5. Which of the following pairs is/are correct
with respect to Basic Animal Husbandry
Statistics 2022?

Product :: Top producing State
1. Milk :: Rajasthan
2. Wool :: Jammu and Kashmir
3. Eggs:: Andhra Pradesh
Select the correct code.
A. 1Tand 2 only
B. 2 only
C. 1and 3 only
D. 3 only
Answer: C

Key Highlights of the Basic Animal
Husbandry Statistics 2022

e In 2020-21, the share of Livestock at
constant prices in Agriculture Sector
and total GVA was 30.13% and 4.9%
respectively.

e During 2014-15 and 2020-21, the value
addition of sector grew at a compound
annual growth rate of 7.93%.

e Milk Production: It registered an
annual growth rate of 5.3% to 221
million tonnes.

- J
10 Available on App Store www.sleepyclasses.com
and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

s

&

SleepyClassesIAS
Awakening Toppers

Top five major milk producing States
are Rajasthan (15.05%), Uttar Pradesh
(14.93%), Madhya Pradesh (8.06%),
Gujarat (7.56%) and Andhra Pradesh
(6.97%).

Per-capita availability of milk It is 444
gram/day during 2021-22 increased by
17 gram/day over previous year.

Egg Production It registered an annual
growth rate of 6.2% to 9.3 million
tonnes.

Total five major egg producing States
are Andhra Pradesh (20.41%), Tamil
Nadu (16.08%), Telangana (12.86%),
West Bengal (8.84%) and Karnataka

~
oT.me /Sleepy Classes

Meat Production It registered an
annual growth rate of 5.6% to 9.3
million tonnes.

The total five major meat producing
States are Maharashtra (12.25%), Uttar
Pradesh  (12.14%), West Bengal
(11.63%), Andhra Pradesh (11.04%),
and Telangana (10.82%).

Per-capita availability of meat It is
6.82 kg/annum during 2021-22
increased by 0.30 kg/annum over
previous year.

Wool Production It registered an
annual decline rate of 10% to 33
thousand tonnes.

(6.38%). The top five major wool producing States are

Rajasthan (45.91%), Jammu and Kashmir (23.19%),
Gujarat (6.12%), Maharashtra (4.78%) and
Himachal Pradesh (4.33%).

e Per-capita availability of egg It is 95
nos/annum increased by 5 nos/annum
over previous year.
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Date - 15th May 2023

1. Consider the following statements with

respect to Fiscal situation of Indian States:

1. In FY 2022-23, Indian States have

managed to control their debt under
the target recommended by FRBM
Review Committee, 2018.

For Indian States, the revenue collected
from GST as a percentage of GDP is
lower as compared to the pre-GST
regime.

Which of the statements given above is/are

correct?

A. 1only

B. 2 only

C. Both1land?2

D. None of the above

Answer: B

RBI recently released a report titled "State
Finances: A Study of Budgets of 2022-23"

Decrease in Deficits: Gross fiscal
deficit (GFD) of states is budgeted to
narrow to 3.4 per cent of gross
domestic product (GDP) in 2022-23
from 4.1 per cent in 2020-21.

Decrease in Debt of states: States’ debt
is budgeted to ease to 29.5 per cent of
GDP in 2022-23 as against 31.1 per cent
in 2020-21.

Far from FRBM Targets: However,
states' debt of 29.5 percent is still
higher than the 20 per cent
recommended by the FRBM Review
Committee, 2018.

~N
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Improvement in States’ capital
outlay-GDP ratio: It is likely to
improve from 2.3 per cent in 2021-22

(provisional account) to 2.9 per cent in
2022-23 (budget estimate).

States’ non-tax revenue: The non-tax
revenue is also expected to increase,
driven by industry and general
services.

Tax devolution to states: The tax
devolution from the Centre to the
states is expected to rise on
expectations of higher revenue
collections by the Centre.

Increased contingent liabilities:
Contingent liabilities refer to the
obligations of a state government to
repay the principal and interest
payments in case a state-owned entity
defaults on a loan. These have risen
from Rs 3.12 lakh crore (2% of GDP in
2017) to Rs 7.4 lakh crore (3.7% of GDP
in 2021-22).

Reverting to Old-Pension Scheme:
Some states like Rajasthan and
Chhattisgarh have decided to move
back to the old-pension scheme. This
may adversely impact the State
finances.

Inter-state variations: For example,
Punjab, Tamil Nadu, Haryana and
West Bengal have the highest interest
payments to revenue receipts ratio
while Bihar, Odisha, Jharkhand have
the lowest ratio.
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Figure 3: Tax to GDP ratio under GST regime
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2. Which of the following statements is/are
correct?

1. Payment aggregators can offer a
payment gateway but the reverse is not
true.

2. Offline Payment Aggregators are
under the purview of RBL

3. A company applying for aggregator
authorisation must have a minimum
net worth of Rs 15 crore in the first year
of application, and at least Rs 25 crore
by the second year.

Select the correct code.
A. Only 1 statement is correct
B. Only 2 statements are correct
C. All statements are correct
D. All statements are incorrect
Answer: C

RBI's criteria for approving an entity as

~
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e Under the payment aggregator
framework, only firms approved by
the RBI can acquire and offer
payment services to merchants.

e A company applying for aggregator
authorisation must have a minimum
net worth of Rs 15 crore in the first
year of application, and at least Rs 25
crore by the second year.

e It must also be compliant with global
payment security standards.

Difference between a Payment Aggregator
and Payment Gateway

e A payment gateway is a payment
processing software. E.g. CCAvenue,
Bill Desk, PayU,
Paypal,Cashfree etc.

Instamojo,

e A payment aggregator is a third-party
payment solutions provider that
offers merchant onboarding services.
E.g. Google Pay, Amazon Pay, PayTM
etc.

e Payment aggregators can offer a
payment gateway but the reverse is
not true.

e While a payment aggregator handles
funds, payment gateway provides
technology.

3. Which one of the following statements is
incorrect?

A. Once the GI protection is granted, no
other producer can misuse the name to
market similar products.

Payment Aggregator B. India is not a signatory to Rome
Convention.
- J
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C. Under the Indian Patent Act of 1970,

patents are granted if the invention is
capable of Industrial application.

D. None of the above.

Answer: D

Patents

A patent is an exclusive set of rights
granted for an invention, which may
be a product or process that provides a
new way of doing something or offers
a new technical solution to a problem.

Indian patents are governed by the
Indian Patent Act of 1970.

Under the act, patents are granted if the

invention fulfils the following criteria

It should be novel

It should have inventive step/s or it
must be non-obvious

It should be capable of Industrial
application

It should not attract the provisions of
sections 3 and 4 of the Patents Act
1970.

Intellectual property rights (IPR) are
the rights given to persons over the
creation of their minds.

These include inventions, literary and
artistic works, and symbols, names
and images used in commerce.

These rights are also outlined in
Article 27 of the Universal
Declaration of Human Rights
(UDHR).

~N
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IPR were first recognized in the Paris
Convention for the Protection of
Industrial Property (1883). It covers
inventions(patents), trademarks and
Industrial Designs. It is still in force.

Berne Convention, 1886 is for the
Protection of Literary and Artistic
Works.

WIPO Copyright Treaty, 2002 is a
Special agreement under Berne
Convention and it has provisions to
extend the protection of copyrights to
the digital environment.

Universal Copyright Convention
(UCC) gives protection for original
literary, artistic & scientific works.

TRIPS Agreement of WTO is very
extensive in nature and protects all
forms of IPR collectively including
Copyrights and other related rights.

WPPT, 2002 It deals with rights within
digital environment, particularly
performers (actors, singers, musicians
etc.) and producers of phonograms
(Sound recordings).

Rome Convention secures protection
in performances for performers, in
phonograms  for  producers  of
phonograms and in broadcasts for
broadcasting organizations.

India is signatory to Paris Convention,
Berne Convention, 1886; Universal
Copyright Convention (UCC); TRIPS
Treaty of WTO; WIPO Copyright
Treaty, 2002; WIPO Performances and
Phonograms Treaty (WPPT), 2002.

India is not a signatory to Rome

Convention.
- J
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Patent protection of pharmaceuticals
were re-introduced after the Patents
(Amendment) Rules, 2005 so as to
comply with TRIPS.

In 2016, Department for Promotion of
Industry and Internal Trade (DPIIT)
under the Ministry of Commerce
launched the National Intellectual
Property Rights (IPR) Policy.

The main goal of the policy is "Creative
India; Innovative India".

4. With reference to External Sector of India,

consider the following statements:

1.

Advance authorization Scheme has

been extended to Apparel and

Clothing sector.

Under Trade Infrastructure for Export
Scheme, central government provides
upto 50% of the total equity in project
in the form of grants-in-aid.

Merchanting Trade is not applicable
for goods/items classified in the CITES
and SCOMET list.

Which of the statements given above is/are

correct?

A. 1and 3 only

B.

C

2 only

. 2and 3 only

D. 1,2and 3

Answer: D

Foreign Trade Policy 2023

-

~
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Merchanting trade: Merchanting trade
of restricted and prohibited items
under export policy would now be
possible. Merchanting trade involves
shipment of goods from one foreign
country to another foreign country
without

touching Indian ports,

involving an Indian intermediary.

o However, this will be subject to
compliance with RBI guidelines,
and won't be applicable for
goods/items classified in the CITES
and SCOMET list.

Facilitation under Advance
authorization Scheme: AAS provides
duty-free import of raw materials for
manufacturing export items. It has
been now extended to the export of the

Apparel and Clothing sector.

Detailed Information on the TIES Scheme

Department of Commerce is
implementing the TIES w.e.f. FY 2017-
18.

It has the objective of assisting Central
and State Government agencies in the
creation of appropriate infrastructure
for growth of exports.

Under the scheme, financial assistance
in the form of grant-in-aid is provided
to Central/State Government owned
agencies (or their Joint Ventures with
major stake-holding by them) for
setting up or up-grading export
infrastructure in States/UTs.

The central government provides upto
50% of the total equity in project in the
form of grants-in-aid to the

implementing agencies.
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In the case of projects in North Eastern
States, Himalayan States including UT
of J&K, Ladakh, the grant can be up to
80% of total equity

5. National Manufacturing Innovation

Survey is released by which of the

following?

A.

Science and Engineering Research
Board

B. Department of Science and
Technology
C. Ministry = of  Electronics  and
Information Technology
D. Department for Promotion of Industry
and Internal Trade
Answer: B

National Manufacturing Innovation Survey
(NMIS) 2021-22

The National Manufacturing
Innovation Survey (NMIS) 2021-22 is a
joint study by the Department of
Science and Technology (DST) and the

United Nations Industrial
Development Organization
(UNIDO).

This study is a follow-up of DST’s first
National Innovation Survey held in
2011.

It aims to evaluate the innovation
performance of manufacturing firms
in the India.

It also aims towards the spirit of
enhancing the competitiveness of
Indian manufacturing and increasing
its share in the GDP.

~N
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It also studied the innovation

ecosystem that affects innovation
outcomes in these firms.

The NMIS 2021-22 survey had two
specific components: the firm-level
survey and the sectorial systems of
innovation (SSI) survey.

The SSI study measured the
interactions between stakeholders of
the innovation ecosystem, the
convergence or divergence of current
policy instruments in select five key
manufacturing sectors important to the
Indian economy - textiles; food &

beverage; automotive; pharma; and
ICT.

The Indian manufacturing sector has
an overall IMII score of 28.17.

Around 25.01% of the 8,074 firms
surveyed were considered innovative.

Karnataka ranked highest on NMIS
score followed by Dadra & Nagar
Haveli and Daman & Diu, Telangana,
and Tamil Nadu

Low scoring states are North-eastern
states (excluding Assam), followed by
Bihar, Assam, Jharkhand.

Firms with more than basic
innovation capabilities demonstrate
higher success in innovation.

Finance is the most cited barrier to
innovation in Indian manufacturing.

- J
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Date - 22nd May 2023 2

15 Questions from CAPF 2022 and 97. With reference to Indian economy, the

CDS 2023 term ‘bad bank’, frequently mentioned
in news, refers to

(a) an asset reconstruction company

(b) an asset management company -
67. The ‘Stand-Up India Scheme’ is related

c) a bank with huge ‘nonperformin
to which one of the following issues? (€ ge pe g

assets’

fa) Social security during old age (d) a bank that has become insolvent
(b) Providing technical l.mowhow to i —

young, educated or skilled workers

from rural areas :

. BadBank

(c) Promoting entrepreneurship

amongst women, SC and ST A bad bank is set up with the purpose

communities of buying the other bank's bad loans at

the market price with the significant

unsuccessful assets,
(d) Insurance cover to people in the

age group of 18-50 years

Answer: C

Saaf Niyat Sahi Vikas

109. The proceeds from disinvestment are
Ski“s and ' ) included as

supplying capital N A =~ (a) non-tax revenue

for Nari Shakti 1

(b) revenue receipts

— (c) capital receipts
@ TR

e A T (d) tax revenue

15~

This scheme provides collateral This initiative provides loans of

free loans to entrepreneurs upto T1 crore to women
/SC/ST/OBC entreprensurs

i -

More than 70% of the 9 crore women have benefitted
beneficiaries are women jointly from Mudra & StandUp India

Answer: C

N J
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110. GST is a/an
(a) destination-based consumption tax
(b) origin-based production tax

(c) destination-based sales tax on
transaction

(d) origin-based tax on sales
transaction

Answer : C

112. Based on the scoring on SDG
(Sustainable Development Goals) India
Index, the NITI Aayog has classified
various States into certain categories.
Which one of the following is not one
of the categories?

(a) Aspirants
(b) Performers

(c) Fast runners

(d) Achievers

\
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CDS 2023

6.
20. Which one of the following situations can
lead to inflation?

(a) Rapid growth of aggregate demand
outweighing supply

(b) Sluggish growth of aggregate
demand

(c) Reduction in the money supply

(d) Higher levels of unemployment

Answer: A

7

21. Which of the following policies help
to raise interest rate unambiguously
and thereby lead to appreciation of
currency?

(a) Expansionary fiscal and monetary
policy

(b) Contractionary fiscal and monetary
policy

(c) Contractionary fiscal policy and
expansionary monetary policy

(d) Contractionary monetary policy
and expansionary fiscal policy

Answer: D
SDG India Index
2020-21
@ nowon () rewereer @ resememee (@) rcrene
NS J
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8.
11.
22. The contraction of private investment
spending due to deficit spending by the 25. Which of the following is/are the sub-
Government is called mission/sub-missions of the National
(a) crowding out Skill Development Mission (NSDM)?
(b) crowding in 1. Institutional training
e 2. Overseas employment
(c) pump priming : ot
3. Leveraging of public infrastructure
(d)" demping Select the correct answer using the code
given below.
Answer: A @ 1onk
(b) 2 only
9. fc) 1,2 and 3
23. Which among the following is/are the (d) 2 and 3 only
objective /objectives of the NITI Aayog?
v : Answer: C
1. Imposing policies on the
States/UT :
e National
2. Allocation of funds at National and SK|“ Deve|opment
State levels Mi ssion
% Del:l gn Stra;eg‘es ane longE-term Seven sub-missions have been proposed
B N T R TISED o initially to act as building blocks for achieving
works overall objectives of the mission.
SFlect the correct answer using the code () Institutional Training
given below. (ii) Infrastructure
(iii) Convergence /." "—- v
(a) 1 and 2 only (iv) Trainers "‘J‘
(v) Overseas Employment : A
{b) 2 and 3 only (vi) Sustainable Livelihoods g 8 |
(c) 1, 2 and 3 (vii) Leveraging Public Infrastructure "“
(d) 3 only
Answer: D
10.
24. The computation of poverty in terms
of Monthly Per Capita Consumption
Expenditure (MPCE) based on the Mixed
Reference Period was recommended
by the
(a) Lakdawala Committee
(b) Tendulkar Committee
(c) Dandekar Committee
(d) Alagh Committee
Answer: B
g J
www.sleepyclasses.com Available on App Store 19

Call 1800-890-3043

and Play Store


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-
oT.me /Sleepy Classes
12,

65. Which one of the following is a measure
that can be used by the Government
for combatting inflation?

(a) Increasing the non-planned
expenditure on defence, police, etc.

(b) Providing more subsidies on
exports

{c) Increasing the rate of interest on
savings and fixed deposits

{d) Reduction in the cash reserve
ratio (CRR)

Answer: C

13.

66. The sustained decrease in the general
price level is called as

(a) deflation

(b) stagflation

(c) devaluation

(d) recession

~N
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14.

67. Which one of the following indicators
is included in the National
Multidimensional Poverty Index (MPI)?

(a) Years of schooling
(b) Literacy rate
(c) Life expectancy

(d) Per capita income

Answer: A

15.

68. The unemployment that occurs due to
changes in the technology or in the
demand for particular products is called

(a) frictional unemployment

(b) structural unemployment

(c) cyclical unemployment

(d) disguised unemployment

Answer: A
Answer: BI
=N
- J
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Concept: Economic Growth

1. Economic growth is best defined as:

A. An increase in the overall standard of
living in a country.

B. The expansion of a country's money
supply and financial sector.

C. The rise in the level of government
spending and public investment.

D. The sustained increase in a country's
production of goods and services over
time.

Answer: D
Explanation

* Economic growth is the sustained
increase in a country's production of
goods and services over time (option
D).

* It refers to the expansion of the
economy's output and productive
capacity.

* Option A, an increase in the overall
standard of living, can be a
consequence of economic growth but
is not the exact definition of economic
growth itself.

* Option B, the expansion of the money
supply and financial sector, relates to
monetary and financial aspects but
does not capture the full scope of
economic growth.

* Option C, the rise in government
spending and public investment, is a
component of fiscal policy but is not
synonymous with economic growth.

-
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* Therefore, only option D accurately
defines economic growth.

Concept: Sectors of Economy

2. Consider the following occupations:

1. Tailor

2. Fishermen
3. Potter

4. Moneylender
5. Priest

How many of above occupations belong to
Tertiary Sector?

A. Only2

B. Only3

C. Only 4

D. All of them
Answer: B

Explanation

Primary

(Agriculture) Secondary
Sector (Industrial)

Tertiary
(Service)
Sector

_:,M'.l'm

>

62
Yl

-

&

aprode!
!

ﬂ m;;r:)jd vres helps to develop
produces goods other sectors
natural
goods

Concept: Supply and Demand

3. Consider the market for smartphones in a
particular country. The demand for
smartphones has been steadily increasing
due to rising consumer preferences for

J

www.sleepyclasses.com
Call 1800-890-3043

Available on App Store 21
and Play Store


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-
OT.me /Sleepy Classes

advanced features and increased reliance on
digital technology.

At the same time, the supply of smartphones .
has been affected by disruptions in the

global supply chain, resulting in limited
availability of key components required for
manufacturing.

~N
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supplied as manufacturers struggle to
meet the demand.

Hence, both options A and B
accurately  represent the likely
outcomes in the market for
smartphones based on the scenario.

Which of the following is likely to occur in

Concept: Types of Unemployment

the market for smartphones?

A. The price of smartphones will increase,
and the quantity demanded will
decrease. A.

B. The price of smartphones will increase,

and the quantity supplied will B.
decrease.
C. Bothaandb C.

D. None of the above.

4. Which one of the following statements is
incorrect?

Under-utilization of resources can lead
to chronic unemployment.

Cyclical unemployment is a common
phenomena in developed economies.

Skilled labour being out of job is a type
of Frictional Unemployment.

Answer: C D. None of the above.
Explanation Answer: D
« The scenario describes a situation Explanation
where the demand for smartphones is Chronic Unemployment

increasing while the supply is limited .

due to disruptions in the global supply
chain.

* As a result, both the price of
smartphones (option A) and the
quantity supplied (option B) are likely
to be affected. With limited supply and
high demand, the price of smartphones

The Chronic Unemployment means
prolonged unemployment in the

economy.

In other words, chronic
unemployment is caused due to the
long-term unemployment persisting in
the economy.

Frictional unemployment

is expected to increase.

» This increase in price may lead to a
decrease in the quantity demanded as
some consumers may be deterred by
the higher prices.

* Simultaneously, the limited supply
may result in a decrease in the quantity

Frictional unemployment happens
when a person is voluntarily job
searching or searching for a new
career. Frictional unemployment isn't
necessarily a bad thing. In fact, because
frictional unemployment is voluntary,
it can be a sign of a healthy economy.

- J
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Cyclical unemployment 4. Software purchased for invoice
* Cyclical unemployment refers to the generation
unemployment which is caused by the Which of the above factors are called as
changes in business cycles, that is Working Capital?
economic upturn or downturn. A. 1and?2only
* Cyclical  unemployment is a B. 2,3and4 only

component of overall unemployment
and is affected by the economic C. 1,3 and 4 only

recession or expansion. D. 2and 3 only

* Cyclical unemployment is highest Answer: D
during an economic recession and is Explanation

lowest during an economic expansion.
Physical capital refers to the tangible assets,

such as machinery, equipment, buildings, and

Concept: Working Capital infrastructure, used in the production of
goods and services. It represents the physical

5. Consider the following:
& resources that contribute to economic

1. Generators for Cold Storage productivity and can be owned and utilized
2. Yarn used by the weaver by businesses and individuals to generate

income and economic growth.
3. Money saved by entrepreneur for

buying Raw Materials * Working Capital: Working capital

refers to a company’s liquid assets,

such as cash and inventory in hand, or
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anything that can be swiftly changed
into currency.

Fixed Capital: Fixed capital can be

thought of as physical investments in
producing a good that can be used on
several occasions or at least multiple
accounting periods. Since it is fixed and
(e.g.

machinery), it

reusable buildings  and

cannot

readily be
converted to cash.

Date - 05th June 2023

Concept: Human Capital

1. Consider the following statements:

\
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decision of the possessor of the human
capital.

Human capital is not sold in the
market; only the services of the human
capital are sold and, hence, there arises
the necessity of the owner of the
human capital to be present in the
place of production.

In the of human

depreciation takes place with ageing

case capital,
but can be reduced, to a large extent,
through continuous investment in
education, health, etc. This investment
also facilitates the human capital to
cope with change in technology which
is not the case with physical capital.

1. Human Capital depreciates with time.
2. Unlike physical capital, human capital
. . Concept: Consumer Durable Goods
is inseparable from its owner.
3. Human capital formation 1is the 2. Consider the following goods:
outcome of conscious investment 1. Televisions
decisions. 2. Vacuum cleaners
How many of the above statements is/are 3. Smartphones
correct?
4. Washing Machines
A. Only 1
How many of above goods belong to
B. Only 2 Consumer Durables?
C. Only 3 A. Only1
D. All statements are incorrect. B. Only2
Answer: C C. Only3
Explanation D. Only 4
Human Capital Answer: B
e Both the forms of capital formation E .
xplanation
(Human and Physical) are outcomes of o o
conscious investment decisions. *  Some commodities like television sets,
. o automobiles or home computers,
e Human capital formation is partly a although they are for ultimate
social process and partly a conscious consumption, have one characteristic
N\ J
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* That is, they are not extinguished by
immediate or even short period
consumption; they have a relatively
long life as compared to articles such as
food or even clothing.

* They also undergo wear and tear with
gradual use and often need repairs and
replacements of parts, ie. like
machines they also need to be
preserved, maintained and renewed.

* That is why we call these goods
consumer durables.

Concept: Legal Tender

3. Consider the following statements:

Statement-I: Currency notes and coins have
intrinsic value.

Statement-II: The value of the currency notes
and coins is derived from the guarantee
provided by the issuing authority of these
items.

Which of the following is correct in respect
of the above statements?

A. Both Statement-I and Statement-II (c)
Statement-I are correct and Statement-
II is the correct explanation for
Statement-I

B. Both Statement-I and Statement-II are
correct and Statement-II is not the
correct explanation for Statement-I

C. Statement - [ is correct but Statement -
IT is incorrect

D. Statement - I is incorrect but Statement
-IT is correct

-
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in common with capital goods - they Answer: D
are also durable. Explanation

¢ Though a hundred-rupee note can be
used to obtain commodities worth Rs
100 from a shop, the value of the paper
itself is negligible - certainly less than
Rs 100.

+ Similarly, the value of the metal in a
five-rupee coin is probably not worth
Rs 5.

*  Why then do people accept such notes
and coins in exchange of goods which
are apparently more valuable than
these?

* The value of the currency notes and
coins is derived from the guarantee
provided by the issuing authority of
these items.

+ Every currency note bears on its face a
promise from the Governor of RBI that
if someone produces the note to RBI, or
any other commercial bank, RBI will be
responsible for giving the person
purchasing power equal to the value
printed on the note. The same is also
true of coins.

* Currency notes and coins are therefore
called fiat money. They do not have
intrinsic value like a gold or silver coin.

* They are also called legal tenders as
they cannot be refused by any citizen
of the country for settlement of any
kind of transaction.

Concept: High Powered Money
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4. Which one of the following statements is
incorrect with respect to High Powered
Money?

A. It broadly reflects the total monetary
liabilities of the Reserve Bank.

B. Itis also known as monetary base.

C. Currency in circulation is one of its
component.

D. None of the above.
Answer: D
Explanation
* Reserve money (MO0), also called “base
money’ or ‘high-powered money’, is
the highly liquid component of money
stock in the economy and plays a

crucial role in the determination of
other monetary aggregates.

* It broadly reflects the total monetary
liabilities of the Reserve Bank.

Unlock Success with
Topic-wise Tests

UPSC PYQ Theme Wise Tests
(2011-2022) for Ultimate Preparedness

Personalized Test Analysis with
our Expert Mentors

Current affairs tests
(Jan 2022 - present)

Focus on Most Important
Current Affairs

¥ 1800-890-3043 | ™ sleepy.classes@gmail.com

\
SleepyClassesINS
Awakening Toppers

= Currency in circulation

+ Bankers’ deposits with the RBI
+ ‘Other’ deposits with the RBI

Reserve Money (Mg)

Concept: National Income

5. Which one of the following is incorrect?
A. NNPMP) = NDP(MP) + NFIA
B. NI=NDPMP) + NFIA
C. NDP(MP) = GDP (MP) - Depriciaton
D. None of the above.

Answer: B
.
Explanation
NFIA D
GDP GNP | NNP ID - Sub
(at
Market | NI UP +NIH
Price) (NNP at +CT -
FC) TrH
PI PTP +
NP
PDI
Fig. 2.3: Diagrammalic rep ion of the subcal ies of aggregate income. NFIA: Net

Factor Income from Abroad, D: Depreciation, ID: Indirect Taxes, Sub: Subsidies, UP: Undistributed
Profits, NIH: Net Interest Payments by Households, CT: Corporate Taxes, TrH: Transfers recived
by Households, PTP: Personal Tax Payments, NP: Non-Tax Payments.
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Topic: RBI Surplus Transfer to Govt

1. Consider the following statements:

1. RBI surplus transfer to government for
FY 2022-23 is more as compared to FY
2021-22.

2. The money is transferred to the
Consolidated Fund of India.

Which of the following is correct in respect
of the above statements?

A. 1only

B. 2 only

C. Both1and 2

D. None of the above
Answer: C
Explanation

* The Reserve Bank of India approved to
transfer a surplus of Rs 87,416 crore to
the government for the financial year
ended March 31.

* This is the highest surplus transfer
since Rs 99,122 crore in FY21. In

N
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RBI Surplus Transfer To Government Over The Years

All figures in Rs crore

FY13 FY14 FY15 FY16 FY17 FY18 FY19 FY20 Fy21+ Fy22 Fy23

*FY21 consisted of only 9 months worth earnings as financial year format was changed to April 1 to March 31.

BQPRIME

Source: RBI statement

Topic: Food Fortification

2. Consider the following statements.

1. InIndia, food fortification is regulated
Standards
(Fortification of Foods) Regulation,
2018.

under Food  Safety

2. As per the Global Hunger Index (GHI)
2022, India’s rank is 107th,

3. Fortified foods are added in Mid-day
meal scheme.

4. Double Fortified Salt contains iodine
and folic acid.

How many of above statements is/are

financial year ended March 2022, the correct?
central bank had transferred Rs 30,307 A. Only1
crore. B. Only2
* The latest surplus transfer is higher C. Only3
than the Rs 48,000 crore that the
government had budged as dividend D. Only4
income from the RBI and public sector Answer: C
banks. .
Explanation
* The outperformance (in surplus
transfer) is supported by large gross
dollar sales of $206.4 billion in FYTD23
(till Feb 2023) v/s $96.7 billion in FY22.
- J
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Fortification is the addition of key
vitamins and minerals such as Iron,
lodine, Zinc, Vitamins A & D to staple
foods such as rice, wheat, oil, milk and
nutritional

salt to improve their

content.

These nutrients may or may not have
been originally present in the food
before processing or may have been
lost during processing.

Deficiency of micronutrients or

micronutrient  malnutrition, also
known as “hidden hunger’, is a serious

health risk.

The Global Hunger Index (GHI) 2022
placed India at 107th position (out of
121 nations).

Access to safe and nutritious food is a
must and sometimes due to lack of
consumption of a balanced diet, lack
variety in the diet or unavailability of
food one does not get adequate
micronutrients.

In India, food fortification is regulated
Food Safety Standards
(Fortification of Foods) Regulation,
2018.

under

In October 2016, FSSAI
operationalized the Food Safety and
Standards
Regulations, 2016 for fortifying staples

(Fortification of Foods)

namely Wheat Flour and Rice (with
Iron, Vitamin B12 and Folic Acid),
Milk and Edible Oil (with Vitamins A
and D) and Double Fortified Salt
(with Iodine and Iron).

~N
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Title: Greenwashing

3. Which one of the following statements

correctly defines Greenwashing?

A. The process of recycling plastic waste

to create new products.

B. Strategy used by companies to make

their products or practices appear
more environmentally friendly than
they actually are.

The act of implementing sustainable
practices within a company's supply
chain.

D. None of the above

Answer: B

Explanation

Greenwashing happens when a
company makes an environmental
claim about something the
organization is doing that is intended
to promote a sense of environmental

impact that doesn't exist.

The Reserve Bank of India (RBI) will
be participating in the Global
Financial Innovation Network's
(GFIN) Greenwashing TechSprint.

Global Financial Innovation Network
(GFIN) was formally launched in
January 2019 by an international group
of financial regulators and related
organisations.

The GFIN is a network of over 80
organisations committed to
supporting financial innovation in

the interests of consumers.
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» It seeks to provide a more efficient
way for innovative firms to interact
with regulators, helping them navigate
between countries as they look to scale
new ideas.

Concept: RBI Annual Report

4. Which one of the following statements is
incorrect with respect to RBI Annual Report
FY2022-23?

A. India received more FDI from
Singapore in 2022-23 as compared to
previous year.

B. India is facing deterioration in trade
balance with Russia in 2022-23.

C. RBI has reported an increase in
number of counterfeit Rs 500 notes in
2022-23.

D. None of the above.
Answer: D

Explanation

Chart II.7.21: Source Country-wise Inflow of FDI (Equity)
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5. Consider the following:

Topic: Agri Exports

1 1. Sugar
2. Basmati Rice
14 A
3. Wheat
2 4. Spi
2 . Spices
5 61 5. Cotton
5 | How many of above are among the TOP 5
Agri export commodities of India?
2 J
© w @ [ £ X w o 5] @ A. Only2
_:%” g % ¢ O ; ° B. Only3
- : C. Only 4
2021-22 §2022-23 < ' Y
Source: RBL D. Only 1
Answer: B
N\ J
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Explanation

Monopolistic Competition Examples

India's top Agri Export items in $ million

Smart Phone
2020-21 2021-22 2022-23
Marine products [IEECEECEEN | 717236 |
Non-basmati rice 613363 |
sugar [HE2789.91 | __5710.64 |
Basmati rice  3537.49 | 47875 |
Spices
Buffalo meat 3303.78 | 3193.69]
Raw cotton [ll1897.21 B 2816.24 W781.43
Fruits & vegetables [lj1492.51 B 1692.48 [ 17s8.65
Oilmeals [ll1585.04 B 1031.94 [ 1600.9
Wheat [J567.93 212213 [ 1519.69
Processed F&V [lll1120.26 B 1190.59 [ 1417.08
Oilseeds [lll1235.67 W 1113.65 133795
Castoroil [ljo17.24 11755 [ 1265.64
Tobacco [ll876.71 W o23.57 121337
Other cereals []705.38 M 1087.39 [ 1193.47
Coffee 71966 M1020.74 Wsea7 42. Social cost is higher than economic cost

because

(a) society is bigger than economy

Date - 19th ]une 2023 (b) society includes polity, while

. ) economy does not include it
Previous Year Questions from EPFO1

c) cost borne by bystanders is positive

41. Which one of the following is not a (d) society includes both consumers
feature of monopolistic competition? and producers
(a) Large number of buyers and sellers
in the market Answer: C
(b) Differentiated products constitute
the market * The social costs are the costs incurred
(c) Product in the market is by the society as a whole. These are the
homogeneous private costs plus any costs borne by
(d) Selling costs are used for sale the rest of the society.
promotion

* So social costs are higher than private
Answer: C costs when firms are able to escape
some of the economic costs of

* Monopolistic competition exists when
P P production. Such a situation is called

many companies offer competing . .
negative externalities.

products or services that are similar,

but not perfect, substitutes. * Por example, a firm releasing

untreated waste into air imposes a cost

* The barriers to entry in a monopolistic . .
Y P on the society in the form of, say,

competitive industry are low, and the . . . .
P y breathing ailments or higher cleaning

decisions of any one firm do not
) ) y ) bills in respect of the third parties that
directly affect its competitors. . . :
is not reflected in the cost of the firm

itself.

* In the economic analysis a firm’s costs
of production are the sum of explicit
and implicit costs.

N J
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* Explicit cost are the outright direct 47. Who among the following was the
cash payments made by the firm that Chairman of the Working Group for

determining the methodology for

. ) ) construction of Producer Price Index
tirms and the other parties from which (PPI) in India (2014)?

arise from transactions between the

the firm purchases inputs/factors or

services o factors. (a) Saumitra Chaudhury

(b) D. V. Subbarao

44, Core inflation is different from headline (c) Abhijit Sen
inflation because the former

g g : d) B. N. Gold
(a) ignores articles of volatile nature in @ A

the price index

(b) considers articles of volatile nature Answer: D
in the price index
fc) is not based on commodity price « Producer Price Index has replaced
ind . .
RS Wholesale Price Index in most
(d) considers only core items of countries.
consumption in the price index

* Producer Price Index measures the
Answer: A

average change in the price a producer
receives for his goods/services sold in

HEADLINE INFLATION

the domestic market/exports.

* PPI is considered conceptually more
consistent with the System of National

Accounts for use as deflator.

* Inorder to determine the methodology

and data requirements for introducing

G wansureatoio Producer Price Index in India, the
Government constituted the Working

Group under chairmanship of B. N.
Goldar on the 21st August, 2014.
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50. Which one of the following countries is 51. A StandUp enterprise can be established
in
not a member of WTO?

farming sector

(a) Japan

manufacturing sector

1
2
3 3. service sector
(b) China
4 trading sector

i A Select the correct answer using the code
(d) Russia given below.
fa) 1, 2 and 4
Answer: C o iy
(c) 1, 2 and 3
(d) 2, 3 and 4
iN
" g | Answer: D

¢ The Government of India launched the
Stand Up India scheme on April 5,

‘;%} 2016, as part of efforts to support
41" # v entrepreneurship among women and
: Scheduled Caste & Scheduled Tribe
(SC & ST) communities.
N\ J
32 Available on App Store www.sleepyclasses.com

and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-

&

SleepyClassesiIAS
Awakening Toppers

The objective of the scheme is to
facilitate composite bank loans
(including term loan and working
capital) between Rs. 10 lakh and Rs. 1
crore to at least one SC or ST borrower
and one woman borrower per bank
branch (without collateral) for setting
up a Greenfield enterprise.

This enterprise can be set up in either
of these sectors—manufacturing,
services, agri-allied activities or
trading.

In case of non-individual enterprises,
at least 51% of the shareholding and
controlling stake should be held by
either an SC/ST or women
entrepreneur.

55. StandUp India Programme envisages

each bank branch to give loan between
¥ 10 lakh to ¥ 100 lakh

1. to at least one SC/ST borrower
2. to at least one woman borrower

3. to at least one rural unemployed
youth borrower

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 and 3

(c) 1 and 3

(d) 1 and 2

Answer: D

N\

~
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59. Depreciation of fixed assets is
example of

(a) deferred revenue expenditure
(b) capital expenditure

(c) capital gain

(d) revenue expenditure/expense

Answer: D

an

88. According to the Economic Survey 2020 - 21,
which one of the following will be India’s real

GDP growth in the year 2021 - 22 ?

(a) 9%

(b)) 11%

(¢c) 13%

d 15%
Answer: B

At constant prices

e @

2023-24@ 6.0-6.8% I

#1st Advance Estimates @Projected
O @rindia () @pieting: €) @pibindia ) epibindia Q) Pieindia . @i india . @Piering: €Y @ribingia

B GDP Growth ).
‘ ) AU \ r Y | ECoNOMIC
= SURVEY J
2022-23

*1st Revised Estimates **Provisional Estimates
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39. Which one of the following is the acronym for
the word ‘NITT in NITI Aayog ?

(a)

(b)

(c)

(d)

National Integration and Transformation
of India

National Institution for Transforming
India

National Institution for Technological
India

National Institution for Trust in India

Answer: B

40. Which one of the following is not a
correct description of the Namami Gange

Programme ?

(a)

(b)

(c)

(d)

It is an initiative of the Ministry of Jal
Shakti.

It primarily covers villages in the States
of Uttar Pradesh, Bihar and Odisha.

It aims to make villages on the banks of
the river Ganga open defecation-free.

It aims to transform some villages on
the banks of the river Ganga as Ganga
Grams.

Answer: B

SleepyClassesINS
Awakening Toppers

Launched in June 2014, with twin objectives of
effective abatement of pollution & conservation
and rejuvenation of Ganga river

Main pillars:

Sewerage Treatment Infrastructure
River-Front Development
River-Surface Cleaning
Biodiversity Conservation
Afforestation

* Public Awareness

B 17 e

4

g

-4
¢

3

\

78. Which one of the following is not an objective
under Pradhan Mantri Krishi Sinchayee

Yojana (PMKSY) ?

(a) Providing subsidies to use fertilizer,
high yielding varieties (HYV) and
pesticides

(b) To achieve convergence of investments
in irrigation at the field level

(¢) To expand cultivable area under assured
irrigation

(d) Improving on-farm water use efficiency

Answer: A

J
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' - - 79. In which one of the following places, was
’ Asia’s first Export Processing Zone (EPZ) set
KRISHI SINCHAI YOJANA .
up in 1965 ?
(a) Ahmedabad
31.03 lakh hectare
. (b) Kandla
Convergence of investment in ;:;’e;:i::?:gm'f(';?
irrigation at the field level. 9 (¢) Mumbai
Expand cultivable area under irrigation :
Improve On-farm water use efficiency to reduce (@ Jaipur
wastage of water .
Enhance the adoption of being precise in irrigation and Answer: B

other water saving technologies(more crop per drop).

Enhance recharge of aquifers and introduce
sustainable water conservation practice

-
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India was one of the first in Asia to recognize the
effectiveness of the Export Processing Zone (EPZ)
model in promoting exports, with Asia’s first EPZ
set up in Kandla in 1965.
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Date - 28th June 2023

Previous Year Questions from CAPF

2021

1. Which one of the following statements
about production possibility frontier is not
correct?

A.

The production possibility frontier
slopes downwards to the right as the
resources are limited.

Production Possibility Frontier

\
@Slccpu ClassesIAS
Awakening Toppers
The PPF demonstrates that the
production of one commodity may

increase only if the production of the
other commodity decreases.

The PPF assumes that resources are
limited and can be allocated in
different ways to produce different
combinations of goods.

B. The different combinations of various S
goods and services given the available o .,
resources and technology are denoted R — .
by the production possibility frontier. '

C. Any point on or inside the production ” _ . ]
possibility frontier is attainable under ' o
the existing technology and resources.

D. On the production possibility frontier, 2. How is the magnitude of price elasticity
the output of one commodity can be for an individual good determined?
increased without clTlanging the output 1. By the degree to which the good is a
of another commodity. necessity or luxury.

Answer: D 2. By the extent to which substitutes are
Explanation available.
* The production possibility frontier 3. By the rate of income growth in the
(PPF), also known as the production economy.
p0551b1.11ty curve ?r the transforn}atlon 4. By the relative importance of the good in
curve, is a graphical representation of \
the consumer's budget.
the different combinations of goods or
services that an economy can produce Select the correct answer using the code
given its available resources and given below.
technology. A. 1,2and3
*  When producing goods, opportunity B. 1and4only
cost is what is given up when you take C 12and4
resources from one product to produce -
another. D. 3and4
+ The maximum amount that can be Answer: C
produced is illustrated by a curve on a Explanation
graph.
- J
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» Price elasticity of demand measures

the responsiveness of demand after a
change in a product's price.

* As an example, if the quantity
demanded for a product increases 15%
in response to a 10% reduction in price,
the price elasticity of demand would
be 15% / 10% = 1.5.

* Several factors influence the price
elasticity of demand, including;:

o Availability of substitutes
o Necessity or luxury good

o Proportion of income spent
o Time horizon

o Income Levels

3. Which one of the following functions as
an automatic stabilizer in the context of
fiscal and monetary policies of an economy?

A. Personal Income Tax
B. Reverse repo rate of bank
C. Open market operation
D. Bond price

Answer: A

Explanation

* Automatic stabilisers are a form of
fiscal policy structured to counter
fluctuations in the economic growth of
a nation through its normal operation

N
o T.me/Sleepy Classes

transfer payments in a manner that is

intended to stabilize incomes,
consumption, and business spending

over the business cycle.

* In the event of acute or lasting
economic downturns, governments
often back up automatic stabilizers
with one-time or temporary stimulus
policies to try to jump-start the
economy.

* Automatic stabilisers are so-called
because they serve to regulate
economic cycles and are triggered
automatically without further

government action.

4. Broadly both birth and death rates are low
in which one of the following stages of
demographic transition model?

A. High stationary stage

B. Early expanding stage

C. Late expanding stage

D. Low stationary stage
Answer: D

Explanation

Demographic Transition Model

Births and Deaths
per Thousand
per Year 4

40 -

i Population
i Growth |

30

without  additional,  appropriate 20-
government or policymaker's
authorisation. 107 Rate
* Automatic stabilizers are ongoing T 2 | 3 | & | Time
L. Stages High : Early : Late : Low
government pohc1es that Stationary iExpandingEExpanding;Stationary
automatically adjust tax rates and
- J
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The unemployment rate cannot be
negative. The unemployment rate is
calculated as the percentage of the
labor force that is unemployed out of
the total labor force.

(
OT.me /Sleepy Classes @ﬂjﬁ,ﬂ,&;ﬁlﬁ;;‘” s
5. Which one among the following * It is a measure of the proportion of
statements is not correct? people who are actively seeking
A. When the economy grows slowly than employment but are currently without
its potential, the unemployment rate a job.
rises.
Unemployment Rate Formula
B. Structural unemployment occurs
when jobs are eliminated by changes in Unemployed People
) x 100
demand for particular goods or due to Labor Force
automation.
C. Recession in the economy leads to
cyclical unemployment.
D. At full employment, the measured
unemployment rate is negative.
Answer: D
Explanation
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A. Recessionary gap
B. Inflationary gap
C. Income multiplier
D. Automatic stabilizer
Answer: B
Explanation

Real
GDP

Actual GDP
Growth

Growth Trend/
Potential GDP

>
>

A r_}\—Y—J Time

Recession/ Expansion Recession/ Expansion

Contraction Contraction

2. For anvthing to be recognized as money, it
needs to have which of the following
characteristics?

1. Act as an intermediate in the exchange
process

2. Standard unit for quoting prices
3. Must be easily divisible
4. Have higher value in alternative uses

Select the correct answer using the code
given below:

~
@ﬂfﬁﬂg%ﬁfs e oT.me /Sleepy Classes
Date - 03rd July 2023 C. 1,2and3
1. The amount by which the equilibrium D. 1, 3and4
level of real GDP exceeds the full Answer: C
employment level of GDP is called E .
xplanation

* The first and foremost role of money is
that it acts as a medium of exchange.

* Money also acts as a convenient unit of

account. The value of all goods and
services can be expressed in monetary
units.

*  When we say that the value of a certain
wristwatch is Rs 500 we mean that the
wristwatch can be exchanged for 500
units of money.

* Money serves as a store of value by

allowing individuals and businesses to
accumulate wealth and save for the
future.

* Money provides a means for settling

debts and making future payments.

* Money is easily portable and divisible,

allowing for convenient transactions. It
can be carried in wallets, purses, or
digital wallets, and it can be divided
into smaller wunits to facilitate
transactions of varying sizes.

3. On the basis of employment conditions,

the economy is divided into

A. organized and unorganized sectors
B. private and public sectors
C. seasonal and disguised sectors

D. primary, secondary and tertiary sectors

A. 1,2and 4 Answer: A
B. 2and 3 only Explanation
- J
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SECTORS OF INDIAN
ECONOMY

ON THE BASIS OF NATURE ON THE BASIS OF ON THE BASIS OF
OF ECONOMIC ACTIVITIES EMPLOYMENT CONDITION OWNERSHIP

Primary sector Organised Public sector
sector
Secondary sector Private sector

Tertiary sector

Un Organised
sector

4. The sectoral shares of Gross Value Added
(GVA) for the year 2009-10 to 2018-19 show
that the share of service sector in GVA in
India has increased over the years. Which

among the following have driven the

maximum increase?

A. Electricity, gas, water supply and other
utility services

B. Trade, hotel, transport, communication
and services related to broadcasting

C. Public administration, defence and
other services

D. Financial, real estate and professional
services

Answer: D

Explanation

~

SleepyClassesIAS
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( crore)
At constant prices
Year Agriculture, Manufacturing, Trade,  Financing, Public Gross value
forestry &  construction, hotels, real estate administartion,  added at
fishing, min- electricity, gas  transport & andpro-  defence and basic prices
ing and water communication fessional ~ other services (2to6)
and quarrying supply services

1) ?) (€) (0] 6) (6) (7
2011-12 series

201415 1894400 2733214 1807689 2073715 1203115 9712133
2015-16 1934120 2993343 1992825 2294787 1276797 10491870
2016-17 2075252 3217705 2146379 2492967 1395982 11328285
201718 2169635 3446383 2368419 2537190 1512542 12034171
2018-19 (3 RE) 2205413 3649928 2538757 M40 1625477 12733798
2019-20(2* RE) 2304069 3600649 2689726 2897393 1727639 13219476
2020-21 (1% RE) 2342056 3500347 2147679 2961910 1633081 12585074
2021-22 (PE) 2437680 3856015 2385605 3087360 1838814 13605474
2022-23 (1 AE) 2518392 4020341 2712235 3284130 1983575 14518673

Source : National Statistical Office

5. Which one of the following is a pull factor
for migration?

A. Natural disaster

B. High wage

C. Housing shortage

D. Low income
Answer: B

Explanation

Push Factors

« few services « access to services

« lack of job opportunities « Dbetter job opportunities

« unhappy life « more entertainment facilities
« poor transport links « Dbetter transport links

« natural disasters « improved living conditions

« wars « hope for a better way of life
« shortage of food « family links

J
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Date - 17th Jllly 2023 associated with long-distance food
transportation.

107. Which of the following statements about
“Truck farming’ is/are correct ?

L Growing vegetables a.round ux('lbar} 108. Which of the following statements with
centres to meet the daily demand o reference to the service sector is/are correct ?

pe(?ple SR TNCk, TR X 1.  Retail trade falls under tertiary activity.
2. It is governed b.y l:?eb;lsﬁcihz t;'uc 2. Research and Development based
;’:‘; :ﬁ:i’;a:r(zmg e activity comes under quaternary

activity.
Select the correct answer using the code given Select the co)xl'rect answer using the code given
below : Bl :
(a) 1lonly (a) 1only
(b) 2only (b) 2only
(¢) Both1and2 (¢) Both1land2
(d) Neither 1 nor 2 (d) Neither 1 nor 2
Answer: C
Answer: C
Explanation
Explanation

* Retail trade consists of selling

» Truck farming, also known as market merchandise in the state that it is

gardening, is the practice of growing purchased (or after minor

and harvesting fruits, vegetables, and transformations), generally to a

herbs for sale at local markets and : e .
customer base of private individuals,

supermarkets. regardless of the quantities sold.

+ This type of agriculture is

characterized by its small scale and Five SQCtors Of the
Economy

proximity to urban areas, allowing for
the efficient distribution of fresh

produce to consumers. 1 2 3 4L &

* Truck farming is important for a

PRIMARY SECONDARY TERTIARY QUATERNARY QUINARY

number Of reasons. For farmers, it - Mining - Automotive - Hospitality - Media - NGOs

- Agriculture - Construction M - Retail - Financial - Nursing
. L . - Fishin, - Manufactur- M - Healthcare Services Homes
prOVIdes a Way tO make a IIVIng Whl]-e - Loggi:g ing ' - Renl’Es'aie - Education - Fire Service
. - Extraction - Food - Education - Real Estate - Police Service
Worklng ona Small Scale. an‘essing - Robotics - Childcare
- Crafts

* For consumers, it provides access to
fresh, locally grown produce, which

can be more nutritious and flavorful
than produce that has been
transported long distances.

* Additionally, it can have a positive
impact on the environment by
reducing the carbon footprint

- J
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109. Which of the following statements about the

National Skill Development Corporation

is/are not correct ?

: It is a not-for-profit Public Limited
Company set up by the Ministry of Skill
Development and Entrepreneurship.

2. It promotes skill development by
catalysing the creation of only large,
quality and non-profit vocational
institutions.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 2only

(¢c) Both1land2
(d) Neither 1 nor 2

Answer: C

Explanation

Skill
Corporation (NSDC) is a not-for-profit

National Development

public limited company incorporated
on July 31, 2008 under section 25 of the
Companies Act, 1956 (corresponding

to section 8 of the Companies Act,
2013).

NSDC was set up by Ministry of
Finance as Public Private Partnership
(PPP) model.

The Government of India through
Ministry of Skill Development &
Entrepreneurship (MSDE) holds 49%
of the share capital of NSDC, while the
private sector has the balance 51% of
the share capital.

NSDC skill
development by catalyzing creation
quality and for-profit
vocational institutions.

aims to promote

of large,

Further, the organisation provides

\
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NSDC acts as a catalyst in skill
development by providing funding to
enterprises, companies and

that skill
training. It also develops appropriate

organizations provide

models to enhance, support and

coordinate private sector initiatives.

111.

Consider the following statements :

Statement I :

In India, Central Government determines the
inflation target, in consultation with Reserve
Bank of India, in terms of Consumer Price
Index once in five years.

Statement II :

At present, the Monetary Policy framework in

India is operated by Central Government.

Which of the following is correct in respect of

the above statements ?

(a) Both statement I and statement II are
correct and statement II is the correct
explanation for statement I

(b) Both statement I and statement II are
correct and statement II is not the
correct explanation for statement I

(¢) Statement I is correct but statement II

is incorrect

Statement I is incorrect but statement

II is correct

(d)

Answer: C

Explanation

Section 45-ZA of the RBI Act, 1934

In May 2016, the RBI Act, 1934 was
amended to provide a statutory basis
for the implementation of the flexible
inflation targeting framework.

Inflation Target: Under Section 45ZA,

funding to build scalable and the Central Government, in
profitable vocational training consultation with the RBI, determines
initiatives. the inflation target in terms of the
Consumer Price Index (CPI), once in
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for the constitution of a six-member
Monetary Policy Committee (MPC) to
determine the policy rate required to
achieve the inflation target.

Under the Reserve Bank of India,
Act, 1934 (RBI Act,1934) (as amended
in 2016), RBI is entrusted with the
responsibility of conducting
monetary policy in India with the
primary objective of maintaining price
stability while keeping in mind the
objective of growth.

112. Consider the following statements :

Statement I :

In India, the RTGS and NEFT payment
systems are owned and operated by National
Payment Corporation of India.

Statement II :

National Payment Corporation of India is an

entity promoted by banks.

Which of the following is correct in respect of

the above statements ?

(a) Both statement I and statement II are
correct and statement II is the correct
explanation for statement I

(b) Both statement I and statement II are
correct and statement II is not the
correct explanation for statement I

(¢) Statement I is correct but statement II

~
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tive years and notifies it in the Official * National Payments Corporation of
Gazette. India (NPCI), an umbrella
» Section 45ZB of the RBI Act provides organisation for operating  retail

payments and settlement systems in
India, is an initiative of Reserve Bank
of India (RBI) and Indian Banks’
Association (IBA).

The ten core promoter banks are State
Bank of India, Punjab National Bank,
Canara Bank, Bank of Baroda, Union
Bank of India, Bank of India, ICICI
Bank Limited, HDFC Bank Limited,

Citibank N. A. and HSBC.

113. Consider the following statements :

Statement I :

A very strong US Dollar squeezes global

credit.

Statement 11 :

Many countries and

America borrow in Dollars.

Which of the following is correct in respect of

the above statements ?

(a) Both statement I and statement II are
correct and statement II is the correct
explanation for statement I

(b) Both statement I and statement II are
correct and statement II is not the
correct explanation for statement I

companies outside

(¢) Statement I is correct but statement II
is incorrect

(d) Statement I is incorrect but statement
II is correct

is incorrect Answer: A
(d) Statement I is incorrect but statement Explanation
IT is correct P
Answer: D
Explanation
* NEFT and RTGS are owned and
operated by the Reserve Bank of India
(RBI).
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Beauties and beasts
Currencies against the $
Jan 3rd-Sep 6th 2022, % change

Brazilian real
Mexican peso
Canadian dollar
Swiss franc

Japanese yen

Source: Bloomberg

-
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So is the dollar now a problem? In
principle, its strength is a remedy for
unbalanced global growth, since it
gives European and Asian exporters
an edge over domestic producers in
the stronger American market. In
practice, a strong dollar makes

220 <15 <10 -5 0 5 10

Al tralian dolar matters worse. It squeezes global
Chinese yuan credit, because countries and
Taiwanese dollar companies beyond America’s borders
Euro W

. borrow in dollars. So when the dollar
S. Korean won - 2 2
British pound rises, it becomes more expensive to
Swedish krona pay back debts out of local-currency

revenues. For many emerging-market
economies, the higher cost of dollar
borrowing trumps the boost to

exports they get from a weaker currency. Dollar strength may not even be a boon
for rich countries, says Steve Englander of Standard Chartered, a bank. Exporters
in Europe are hamstrung by energy disruptions, so cannot take full competitive
advantage of a favourable exchange rate.

114.

Consider the following statements :

Statement I :

The Government of India mandates the

packaging of 100% sugar and food grains in

diversified jute bags.

Statement II :

The Government of India enacted the Jute

Packaging Materials (Compulsory Use in

Packing Commodities) Act, 1987.

Which of the following is correct in respect of

the above statements ?

(a) Both statement I and statement II are
correct and statement II is the correct
explanation for statement I

(b) Both statement I and statement II are
correct and statement II is not the
correct explanation for statement I

(¢) Statement I is correct but statement II
is incorrect

(d) Statement I is incorrect but statement
II is correct

Answer: D

Explanation

India
Reservation norms for mandatory use

Government of approved

of jute in packaging of rice, wheat and
sugar for the Jute Year 2022-23.

~
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packaging of sugar in jute bags, which
will be a big boost for West Bengal.

JPM Act, 1987 protects the interest of
Jute farmers, workers and persons
engaged in jute goods” production.

75% of the total production of the Jute
Industry is Jute Sacking Bags of which
85% is supplied to the Food
Corporation of India (FCI) and State
Procurement Agencies (SPAs) and
remaining is exported/sold directly.

115.

Answer: A

Explanation

ADB offers $25 billion green funding to
India

The green growth agenda would drive ADB’s India programme to help the country
fulfill its global climate action commitments

Recently which one among the following
committed up to $ 25 billion for the next five
years to fund India’s infrastructure creation
under the Prime Minister Gati Shakti
initiative as well as social development and
climate action, thus aiding India’s aspirations
for green growth ?

(a) Asian Development Bank

(b) International Finance Corporation

(¢) New Development Bank

(d) World Bank

118. ‘Quantified Domestic Minimum Top-up Tax’ is
generally talked about in the context of :

(a) Global Anti-Base Erosion Rules
(b) Prevention of Money Laundering
(¢) Regulation of Crypto-currency

(d) Virtual Digital Asset Transactions

« The Mandatory norms provide for full Answer: A
reservation for packaging of Explanation
foodgrains and 20% reservation for
N J
44 Available on App Store www.sleepyclasses.com
and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-

&

SleepyClassesIAS
Awakening Toppers

The OECD is currently working on a
project comprising 140+ countries (‘the
Inclusive Framework’) to redesign the
current international tax system. The
project consists of two Pillars.

Pillar One aims at allocating a portion
of profit of large and highly profitable
multinational enterprises (MNEs) to
the destination or market country,
where consumers or users are based.

The second proposal, known as Pillar
Two or global minimum tax, will
ensure that MNEs pay a minimum
level of tax in all the countries where
they operate, i.e,, minimum effective
tax rate (ETR) of 15% on a country-by-
country basis.

Pillar Two applies to MNEs with
global revenues above €750 million
(~Rs 6,500 with
exceptions.

crore), certain

If an in-scope MNE’s ETR in a country
is below 15%, it will have to pay a top-
up tax to the country where its parent
company is located.

For example, if an Indian MNE has an
ETR of 10% in Singapore, it will have
to pay a top-up tax of 5% to India.

However, Singapore can also collect
the top-up tax if it introduces a
qualified domestic minimum tax. If
neither India nor Singapore introduce
the Pillar Two, the top-up tax will be
collected by other countries that have
introduced it.

N
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120. ‘NSE Prime’, sometimes mentioned in news,

denotes :

(a) A high standard corporate governance
initiative

(b) Long-duration Sovereign Green Bonds

(¢) Concessions and tax-holidays for hi-tech

startup companies

(d) Special privileges for certain categories

of Non-Banking Financial Institutions

Answer: A
Explanation

» The National Stock Exchange (NSE)

has launched a new corporate
governance initiative - “NSE Prime’, a
framework that prescribes higher
standards of corporate governance for
listed companies than those required

by regulations.

* All the NSE-listed companies can
adopt NSE Prime voluntarily.

The initiative will raise the bar for corporate

governance standards in India, enable
investors to identify companies that have
voluntarily signed up for higher standards of
corporate governance, broaden the quality of
investors in listed companies and further

strengthen trust in Indian capital markets.

Date - 27th July 2023

Topic: Telecom Technology
Development Fund (TTDF) Scheme

1. Consider the following statements:

1. Its aims to fund R&D in rural-specific

communication technology

applications.
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2. It was launched by Universal Service
Obligation Fund (USOF), a body under
NITI Aayog.

Which of the above statements is/are
correct?

A. 1only

B. 2only

C. Both1and 2

D. None of the above
Answer: A
Explanation

* Universal Service Obligation Fund
(USOF), a body under the Department
of Telecommunications, officially

launched Telecom Technology
Development Fund (TTDF) Scheme on
October 01st, 2022.

* Telecom Technology Development
Fund (TTDF) aims to fund R&D in
rural-specific communication

technology applications and form

synergies among academia, start-ups,
research institutes, and the industry to
build and develop the telecom

ecosystem.

» Additionally, the Scheme aims to
promote technology ownership and
indigenous manufacturing, create a
culture of technology co-innovation,
reduce imports, boost export
opportunities and  creation of

Intellectual Property.

* Under the scheme, USOF is also
targeting to develop standards to meet
countrywide requirements and create
the ecosystem for research, design,

~N
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prototyping, use cases, pilots, and

proof of concept testing, among others.

* The scheme entails grants to Indian
entities to encourage and induct
indigenous technologies tailor-made
to meet domestic needs.

Topic: Business Responsibility and
Sustainability Report

2. Consider the following statements:
1. The BRSR framework is based on the
principle of “comply or explain”.

2. BRSR Core requirements shall be
applicable to top 150 companies in FY
2023-24.

3. SEBI has introduced BRSR framework
to encourage listed companies to adopt
sustainable business practices.

How many of the above statements is/are
correct?

A. One only
B. Two only
C. All statements are correct
D. All statements are incorrect
Answer: C
Explanation

According to SEBI, top 150 listed companies
(by market capitalisation) would have to file
a Business Responsibility and
Sustainability Report (BRSR) Core as part of
their annual reports by the financial year
2023-24.

* The BRSR framework aims to
encourage listed companies to adopt
sustainable business practices and

- J
46 Available on App Store www.sleepyclasses.com
and Play Store Call 1800-890-3043


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

-
SleepyClassesIAS
Awakening Toppers
disclose information related to their
environmental, social, and governance
(ESG) performance.

* The BRSR framework is based on the
principle of “comply or explain”.

* It means that listed entities are
required to disclose their ESG-related
information as per the prescribed
format or provide a valid reason for
not doing so.

* The BRSR framework covers various
aspects of sustainability, including
governance, environment, social,
customer, supply chain, and human
rights.

* Through it, SEBI has defined ESG
disclosures in a standardized manner
for the listed companies.

Topic: GST Slabs

3. Consider the following:
1. Caffeinated Beverages
2. Online Gaming
3. Tar distilled from coal
4. Cigars

How many of the above is/are included in
28% GST Slab?

A. One only

B. Two only

C. Three only

D. All are included
Answer: C
Explanation

* The Goods and Services Tax Council,
after its 50th meet in New Delhi on

-

~
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Tuesday, has agreed to levy 28 per cent

GST on online gaming, horse racing,
casinos on full value.

Taxing times for e-Gaming firms

Total deposit amount Rs 100
Of which:
Pool entry amount Rs 78
GST of 28% Rs 22
Total pool entry amount Rs 78 NI
Of which:
Platform fee of 15% Rs 12
(from pool entry amount)
Net entry amount Rs 66
* Now, if user wins back the Rs 66 and re-enters another 1
context, it will be taxed again at 28%

* Cumulatively, the net levy could end up becoming
50-60% within 3-4 games
Source: ET Research, gaming industry executives

Topic: PPV&FR Act 2001

4. Which one of the following statement is
incorrect with respect to Protection of Plant
Varieties and Farmers” Rights Authority?

A. Itis a statutory body.

B. Its functions includes maintenance of
the national register of plant varieties.

C. Decisions of the authority can be
challenged in high court.

D. None of the above
Answer: D
Explanation

Protection of Plant Varieties and Farmers’
Rights (PPV&FR) Act, 2001

It establishes Plant Varieties
Protection Appellate Tribunal
(PVPAT).

» It establishes Protection of Plant
Varieties and Farmers’ Rights
Authority (PPV&FR Authority): It is
established  to
provisions of the Act.

implement  the
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* Act calls for maintenance of National
Gene Bank to store the seed material.

+ Establish National Gene Fund (2007):
It supports and reward farming
/tribal/rural communities who are
engaged in conservation,

improvement and preservation of

genetic resources.

* Act is unique because grants rights to
both breeders as well as farmers.

Explained | What is the legal row between
farmers and PepsiCo? '@

Topic: Electricity Tariff

5. Which one of the following statement
correctly defines Time of Day (ToD) Tariff?

A. A tariff that remains constant
throughout the day, regardless of the
time electricity is consumed.

B. A tariff that varies based on the time of
year, with higher rates during peak
seasons.

C. A tariff that changes based on the
amount of electricity consumed,
irrespective of the time of day.

D. A tariff that offers discounts to
customers who consume electricity
during specific hours of the day.

Answer: D
Explanation

* Rather than being charged for
electricity at the same rate at all times
of the day, the price for electricity will
vary according to the time of day.

» Tariff during solar hours (duration of

Why did the Delhi High Court reject PepsiCo India’s patent appeal for its unique Lays’ potato?”

~
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State Electricity Regulatory

Commission) of the day shall be 10%-
20% less than the normal tariff.

*  While the tariff during peak hours
will be 10 to 20 percent higher.

* These will be applicable all consumers
except agricultural consumers.

* Since solar power is cheaper, the tariff
during the solar hours will be less.

* During non solar hours thermal and
hydro power as well as gas based
capacity is used - their costs are higher
than that of solar power - this will be
reflected in Time of Day Tariff.

Most of the State Electricity Regulatory
(SERCs) have
implemented ToD tariffs, for large

Commissions already

Commercial and Industrial (C&l) category of
consumers in the country.

Date - 315t July 2023

Topic: Cooperative Banks in India

1. Consider the following statements:

1. UCBs can do One-Time Settlements at par
with commercial banks.

2. UCBs shall contribute to Rural
Infrastructure Development Fund and

other eligible funds against their shortfall
in PSL target from 315t March 2023.

Which of the above statements is/are correct?
A. 1only
B. 2only
C. Bothland2
D. None of the above

eight hours in a day as specified by the Answer: C
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¢ The Ministry of Cooperation has taken four
important initiatives have been taken to
strengthen 1,514 Urban Co-operative Banks
(UCBs) in the country.

These steps Include

* New Branches: UCBs can now open new
branches up to 10 per cent (maximum 5
branches) of the number of branches in the
previous financial year without prior
approval of RBI in their approved area of
operation.

¢ One-Time Settlement: UCBs can also do
One-Time Settlements at par with
commercial banks.

*  Priority Sector Lending (PSL): Extension of
timeline by two years (until March 31, 2026)
to achieve PSL targets. Deadline of March
31, 2023 to achieve PSL target of 60% has
now also been extended to March 31,2024.

* Designating Nodal Officer in RBL
Appointment of a Nodal Officer in RBI for
closer  coordination and  focused
interaction.

Topic: Ways and Means Advances

2. Consider the following statements:

1. Any amount drawn by a State in excess of
the normal WMA is an overdraft.

2. Borrowings through WMA are to be repaid
within three months.

3. The rate of interest applicable for Special
Drawing Facility funding from RBI is the
repo rate.

How many of the above statements is/are correct?

N
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C. All statements are correct
D. All statements are incorrect
Answer: B
The SDF:

+ It is extended against the collateral of the
government securities held by the State
Government.

« To encourage the State’s participation to
the Consolidated Sinking Fund and
Guarantee Redemption Fund, incremental
investments in these funds are also eligible
to avail SDF.

Normal WMA:

o After the SDF limit is exhausted, the State
Government is provided a normal WMA.

* The normal WMA limits are based on
three-year average of actual revenue and
capital expenditure of the state.

Overdraft:

*  The withdrawal beyond the WMA limit is
considered an overdraft.

+ A State Government account can be in
overdraft for a maximum 14 consecutive
working days with a limit of 36 days in a
quarter.

* The rate of interest on WMA is linked to
the Repo Rate.

Topic: Market Stabilization Scheme and

Open Market Operations

3. Consider the following statements:

1. MSS is only selling of Government

A. One only securities to withdraw excess liquidity.
B. Two only
- J
www.sleepyclasses.com Available on App Store 49
Call 1800-890-3043 and Play Store


http://t.me/SleepyClasses
http://www.sleepyclasses.com/

4 )
si <l Ins
OT.me /Sleepy Classes @Awﬁﬁﬂ'; o

2. OMO is used to both inject and withdraw Topic: PCA Framework
liquidity. . . .

qaty 4. Which one of the following parameter is not

3. OMO is not a part of Government used by RBI while implementing Prompt
borrowing. Corrective Action Framework?

How many of the above is/are correct with respect A. Capital
to Market Stabilization Scheme and Open .
, P B. Asset Quality
Market Operations?
C. Leverage
A. One only
D. Profitability
B. Two only
Answer: D
C. All statements are correct
‘ * The Prompt Corrective Action (PCA)
D. All statements are incorrect L .
framework is aimed at nursing a lender
Answer: B facing issues on the asset quality,

+  Open Market Operations (OMO) involve profitability and capital fronts back to
the purchase and sale of Government health.
securities to regulate the money supply in *  PCA seeks to put a bank, whose financial
the economy. This mechanism allows for parameters are out of kilter, back on the
the injection or withdrawal of liquidity. rails.

These securities are art of the o
‘ P * The framework is intended to encourage
Government's borrowing process. o o
banks to eschew certain riskier activities
¢ On the other hand, Market Stabilization and focus on Conserving Capita] so that
Scheme (MSS) only involves the sale of their balance sheets can become stronger.
Government securities to reduce excess .
L ) _ * RBI puts a Bank under PCA if the breach
liquidity. The funds obtained from selling _
. . ) any one of the three risk thresholds under
these securities are deposited into a L , .
the three indicators that it tracks -- capital,
separate account known as the MSS .
asset quality and leverage.
account.

* The money held in the MSS account is S e o e T 0 T e 2 et
solely reserved for the redemption T e
(repayment) of the securities issued under ety oSt o o b e
the MSS. It is not utilized by the Comarnton st CC0)

Government to cover its expenditure needs T e R
and is not considered as part of A =15 S+l
Government borrowing.
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Topic: Expansionary Policy
5.Inresponse to a severe economic downturn, the
central bank of a country decides to implement
expansionary monetary policy to boost economic
activity and increase money supply.
Which of the following actions is most likely to
be taken by the central bank?
A. Increasing the interest rates to encourage
saving and reduce borrowing.
B. Implementing a contractionary monetary
policy to control inflation.
C. Buying government securities in the open
market.
D. Raising the reserve requirement for
commercial banks.
Answer: C
*  When the central bank wants to increase
the money supply, it can conduct open
market  operations by  purchasing
government securities from the market.
* By doing so, the central bank injects money
into the banking system, which in turn
increases the reserves of commercial banks,
leading to more lending and money
creation.
*  This expansionary measure is intended to
stimulate  economic  growth  and
investment.
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